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Instructions :
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(if)

(iif)

(v)

)

(vi)

v AfEr ¥

All questions are compulsory.

T HHE 19 5 T AfTSTa v ¥ | wls W W 1 3tk arEfr
T 1 SW 1 K 9991 7 9639 § S |

Question Nos. 1 to 5 are very short answer type questions. Each

question carries 1 mark. Answer should be given in / word or /
sentence,

I FHI 6 W 10 T T T W 2 375 2fed § | (wree-gi 30 9)
Question Nos. 6 to 10 carry 2 marks each. (Word-limit 30 words)

R SHHIR 11 R 22 T Wl Ve W 3 aieh oy ¥ | (w=—gim 509=)
Question Nos. 11 to 22 carry 3 marks each. (Word-limit 50 words)
W A 23 W 4 3iep Efed ¥ 1 (wm-wim 70 wis)

Question No. 23 carries 4 marks. (Word—limit 70 words)

W FAF 24 W 26 T TIB W QW 5 siw e ¥ (-
100 1=z

Question Nos. 24 to 26 carry 5 marks each. (Word-limit /00 words)

-

(vii) Wwﬁ,ﬁ'{aﬁ«amﬁfmﬁamm

Draw clean and labelled diagram wherever necessary.

NM-39B

P.T.O.

http://www.cgboardonline.com

WO JUIUOPIBOQTO Mmmm//:diy



WO dUIUOPIROGSI Mmm//:dny

http://www.cgboardonline.com
2]
-1 el e e 82

What is called Desorption?

-2 9o9-Refen sfufiran w1 Faa e fafaw
Write only the equation of Wurtz-Fittig reaction.

V-3 slehfirs uewreie ¥ S wetee au RRER framan s @ @2
Copper sulphate and pyridine are added in industrial alcohol.

Why?

W4 A-FAR-I=A-2-30A ATk H T TR
Draw structural formula of 4-chloro-pentane-2-one.

UPT-5 303 T IaeM W SHH IUTE el HEl Jal s g 2

Where does the water present in the egg go after boiling the egg?

W9-6  2.46 T NaOH (anvifas seamm=40) 1 100 cm® w11 # foor T
T | 39 faeas @t HieRa 91 S|

2.46 gm of NaOH (Molecular Mass=40] is dissolved in 100 em? of

water. Calculate the molarity of this solution.

yeq-7 Tretataa sfufsa it #if w@ < 9w it :
2NH,(g) — 22 Ny(g) + 3H,(g)

Find order of reaction and rate of the following reaction :

2NH;(g) — 2= Ny(g) + 3Hy(g)

wva-8  PH, %1 Faaish NH,% Faerfie & F7 qa ¢ | 70 2
Why PH; has lower boiling point than NH,?

wgt-0  fderH iR 1 e dfed fafe

Write carbylamine reaction with equation.
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Ethylamine is soluble in water whereas aniline is not. Explain why.

ferieh 3 STTHA W ST T e € 7 I i werHal § WHARy ) [1+2=3]
What do you mean by depression in freezing point? Explain with

the help of graph.

32 G-FTA T IR (3]
Explain half life period.

et R femforat fafay : [1%+1%=3]
(37) 9gH

(%) Jgawv-Saad
Write notes on the following :
(a) Emulsion

(b) Electrophoresis
FINSITH B FHARY, (FoiifEeht) | [2+1=3]
Explain chromatography.

FAR =1 faiere o1 TerEfE FHH g 99HET | [2+1=3]

Explain bleaching property of chlorine with chemical equation.

189 TR ¥ T & Frefafas ol 1 Sren FRT ; [1%+1%=3]
(&) 3T Tt

(7) Tl fam=ma

Explain the foll\owing properties of 18th group elements :

(a) lonization enthalpy

(6)  Electronic configuration
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W-17  Fes wiee fugid B0 wRARY fE T
¢ )Wﬁ@ﬁaﬂm

a!gﬁqag-aq;h%aaﬁqu’“ A (11
R T
Explain with the help of crystal field theory that hexaqua I

(I1) ion contains five unpaired electrons while hexacyano mang

anganese

anese
(I1) ion contains only onc unpaired electron.

W18 forg el i F) SRS S WE g A i § 2 39
Y= E ) 3vam fafen)
Which halogen compound is used as fire extinguisher? Write its

name. formula and two uses.

3]

[1+1+1=3]

W-19  Sad TaEiE aite fafa [1%+1%2=3]

(37) SRS | fere s

(7)) ufafesd s A ufue Vepiier s

Write only chemical equation :

(a) Preparation of phenol from chlorobenzene

(b) Preparation of ethy!l alcohol from acetic acid

WER-20  (97) GRIS U1 (F) AR F el NS ¥ BA-W IR W Bl

? - o PhOAar 1 >
??  http://www.cgboardonline.com [1%+1%=3]

What are the hydrolysis products of (a) sucrose and () lactose?

W¥A-21 TR ¥ TehA1HT H qHE |

Explain vulcanisation of rubber.

(3]

W-22 W ven ¥ v faen & e e fafa) [1+1+1=3)

Why chemicals are added to food materials ? Write three reasons
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(&) Tgere Riswal

Explain the following :
(@) Tetrahedral voids

(6) Doping

OR
Trafafaa =i aweEy
(37) qregrihcd
(%) g
Explain the following :
(@) Ferromagnetism

(b) Paramagnetism

T TRSINH Joagrs ol & 2 ufas auf sife) [142+2=5]
What is standard hydrogen electrode? Explain with diagram.
Hqr

OR

farera-vart da T € 2 3ua franfaft fo wfea weemsw)

What is electrochemical cell? Explain its working with the

help of diagram.

WA T G gegit fae SN g T fe 7o @

THAET [142+2=5]
(37) T o

(F) /VEF
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[6]

. " and
Write general electronic configuration of transition elements

explain their following properties
(@) Magnetic property
(b) Catalytic property

arear
: OR
Wofer SR S 9 faf 1 it Hf qen s Frefared &
ey s wHhE AR ; [3+1+1=5]
(37) smaH
(%) H,S

Explain preparation of potassium dichromate and write its ionic

equation with the following :

(a) Iron

(6) H,S

et =1 T (e TamEtn wte Sif) [1+1+1+1+1=5]
(37) TEEH-He SR

() @ sl

(%) Usrus arfafsean

(%) Tesi ¥

(2) e sl

Explain the following (write only chemical equation) :
(a) Gattermann-Koch reaction

(b) Stephen’s reaction

(¢) Rosenmund reaction

(d) Aldol condensation

(e) Cannizzaro reaction

rm— e —— —
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arerar
OR

< 1 B, S (e T gt fafae) 7—
(3) forre et =t fiFn CO, & 1 i &
(5) iR s H B TeRed ¥ R S ¥
(@) TdRfreeme M iR HON ¥ &1 Sl ¢

(7) TeeieTEE T iR NaHSO, & %t <t &

(3) ufafew svet @ R Na w1g @ ot T §

What happens when (write only chemical equation)?—

(a)
(b)
(c)
(d)
(e)

Grignard reagent is treated with CO,
Carboxylic acid reacts with alcohol
Acetaldehyde reacts with HCN
Aldehyde reacts with NatHSO,

Acetic acid reacts with Na metal
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